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Answer either in English or in Assamese

1. Answer any ten from the following as

directed : 1x10=10
TS fHET @ R e e FICH R Teg
i -

(a) What is aggregate demand?
A oifda f 2

(b) Express effective demand in a four-
sector system.

o1 R Ffos Sy it e <4 |
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(c

(d)

()
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(2)

What is open economy?

T 9IS % 2

Mundell-Fleming model assumes that
capital is

TU- G S JoemF o1zt 41 =y
(i) perfectly mobile
A B fRp1ea
() perfectly immobile
A SO 31y
(iii) imperfectly mobile
SPTARC o o1
(Choose the correct option)

(o Remen 1 Sfrea)

What is the shape of long-

e run Phillips

T l%ﬁ"i"f'z‘( SRIEAC PO T 2
The aggregate sup
employment is

1l et =TS s qra S
(i) more elastic

T oy

Ply function at full

( Continued )

(g)

(b

()
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(3)

(i) less elastic
< fefeme
(iti) perfectly inelastic
e wiEfore
(Choose the correct option)

(= Rescor AifR Sferean)

Who developed the purchasing power
parity theory?

1 TIOR el SGl (I TAre FaRe ?
Define asset market.

S e e |

What is Capital Account in Balance of
Payment (BoP)?

@ STeR o et e ?

At the point of effective demand
HfeFy BIRME ﬁ“j\o
(i) aggregate
supply

ST BifEn = ST e
(ij) aggregate

supply

T TR > ANET @

demand = aggregate

demand > aggregate
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(4)

(i) aggregate demand
supply

THEE 5191 < i Ripici
(iv) Both (i) and (1ti)
(i) == (i) Toy

< aggregate

(Choose the correct option)

(o7 Reschr i Sferea)

(k) Supply inflation ig caused by

T AP T34 357

() wage push
TR

(i) mark-up Pricing
TR oy

(i) profit push
e Cpl

(iv) All of the above

NGRS

C
(Choose the Correct option)

(9% fsreny MR Sere)

(5)

() The natural rate of hypothesis involves

Ao 2 A S FCI
(i) adaptive expectation

wfeciere e
(i) rational expectation

Afes o
(i) Both (i) and (i)

(1) == (ii)“‘@G?I

(Choose the correct option)

(o o MR Sferen)

(m) Write one measure to control cost-push
inflation.

e TErRfe frad FfREte «b1 T o

(n) Mention the I-S components  of
Mundell-Fleming model.
wea-aiik W e-REEeR TAmeee
oy 901

(o) Define arbitrage in international
payment.
SEET SMES SRS A i |

(p) Whatis international financial market?

TFEfes [Rew 51 9
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(6)

(@) Write one criticism of effective demand

r)

CRI e
(Choose the correct option)
(o= fmchr iz Sferean)
2.
Answer any five from the following : =
wmmwﬁmm*ﬁs&ﬁ%mﬁm- g
(a) What is Eurocurrency market?
AN WH 35 f 9 |
b
(b) Define natural rate of Unemplo
yment
A 2% 2 sy |
¢/ What i
(c) at 1s meant py mark-up inflation?
TSN F@rfifey % 3o 2 ey
A23/179

ER DI BT Sz forey |
The concept of forei
when oy
was developed by B TRt
CTE TR @ () e lafeet
() R. F. Khan
HE. 9%, 3q

(@ J. M. Keynes

(&, 93, (@5\

(i) Samuelson

( Continued )

(d)

(g)

()

(i)

0
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(7))
Write the reasons for inverse
relationship between inflation and
unemployment. :

e wE FegEe TR Refie SrroR
Fraet forr 1

Mention two assumptions of Mundell-
Fleming model.

Toee-GRfay 3T B! U S 4 |

Define effective demand.

wfery wifRwe FIge |

What are the determinants of
equilibrium rate of interest?

SR e 2R e 12

In what way expectation influences the
rate of exchange?

ereyiE R 430 A 2T USRS I 2

Mention two limitations of adaptive
expectation.

SRS @R 101 TNRme! Stay 4 |

What is foreign trade multiplier?

R e 897 fF 9
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( 8) . - (9)
3. An
swer any four from the following : 5x4=20 () What are the prerequisites of Keynesian
TS wﬁmmwﬁ@mmﬁtm@mﬁm. theory?
@39 o FHreR & 2

i tEXII;Iain Eg e monetary approach
0 Balance of P
ayments (BoP). (g9 What is aggregate supply? How does

: HO{  (BoP) TS ey Ry aggregate supply curve determine in

L 0 = Keynesian economics?
(b) Write e @ 57 @Fpd SdAfee THEe
overshooting mode]. rnbusch’s [@IRICRAR RIS IRETN,
%4353 EIWER'J‘\ RlEUnE] /S @B (& (h) Explain the concept of demand-pull
l inflation

IS JEPRIed QRATCE! 07 T4 |

(c) Distinguish between
exchange rate.

U TS ey TR ) 4. Answer any four from the following : 10x4=40
Gy | ik T e AT o[ & (e 5o Ted o -

(@ prieﬂy explain  the A (a) What is rate of exchange? Explain the
International fingpq; Mponents  of determination of equilibrium rate of
e {8y e h 2+8=10

O SR @Ry & exchange. =
i R o mam Ry 2@ &2 ST R 29 R B
0 =Y, I 490

(e) How does natural

: rate h .

e

xple.un Fhe unernployme .VFJOthems (b) Explain critically the rational
relationship? Nt-inflation expectation hypothesis
agfee ] ECRicl @fss

e ASTPIE  SEAMCH ST =21
ST
SAFCOT (R 3efy %, B PRl aioN T 40|
A23/179 i i
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(c)

(@)

(e)

(9)
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(10 )

Explain the asset market approach to
determine exchange rate.

ﬁﬁwmﬁaﬁaﬁﬁfﬁﬂawwmﬁ'

RIS

Establish the relationship between
foreign trade multiplier and marginal
propensity to import.

@te iER e W ofye STIey
YATOR & T2 FIofe] 5547 |

Discuss the Mundell—Fleming model in

terms of monetary fiscal mix policies
under fixed exchange rate wi
capital mobility.

R e R O —

-G (it s ©
T L by

th perfect

DiS(?l.ISS. the determination f
equilibrium  leve] of  emplo :
through effective demand. F

T BRI wfRacs s
ﬁWqW@,WNWIMﬁWW

Examine the police i
eff
Phillips curve, ~isESs ot

Pt G A1 rtier ey oy

( Continued )

(11 )

(h) Explain the purchasing power parity

(i)
demand.
S SifRwE RdReTER T

() Explain the factors that cause
fluctuation in the exchange rates.
Ay 290 SRFOR R T TR T
41 |

* K K
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theory of exchange rate.
Rty 2 & ISR Tl Sl I T

Explain the determinants of aggregate




UCLCHIIIIIC CXClhlange rate.
R 2R iR FRAC T TES RS
AR <S4

(d) Establish the relationship between
foreign trade multiplier and marginal
propensity to import.

P AER @ WIF efee S
SO e 0! T T4 |

(e) Discuss the Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed exchange rate with perfect

capital mobility.

o Semea e e & R 2o
Tom-gried (s e qreRae i e
AR =41

(f/ Discuss the determination of
equilibrium level of employment
through effective demand.

ey viftwE wEce SIET e S e
{1 =, SCoA * 1 |

(g9 Examine the police effectiveness of
Phillips curve.

o @R AfSsre IHFRST 4Rl 3597 |
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